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Section - I (English)

Q.No: 1 What is the Synonym for "Ubiquitous"?

Abundant

Limited

Widespread

Scarce

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

In which century did the Industrial Revolution begin?

17th century

18th century

19th century

20th century

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

Which technological change is mentioned in the paragraph?

Printing press

Steam engines

Horse-drawn carts

Handloom weaving

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

What challenges are associated with the Industrial Revolution?

Economic growth

Poor working conditions

Urbanization

Manual labour

Q.No: 5 What is the single word for "A person who studies the Earth's structure and composition?"

Astronomer

Meteorologist

Ecologist

Geologist

Q.No: 6 Choose the correct article in English grammar, that completes the sentence:
___________ apple a day keeps the doctor away.

A

An

The

No Article Required

Q.No: 7 Choose the word that means "the quality of being honest and straightforward":

Duplicity

Fraudulence

Integrity

Deception

Q.No: 8 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
They won't attend the meeting, ___?

do they

doesn't they

will they

won't they

Q.No: 9 Choose the correct part of speech for the underlined word in the given sentence.
She laughed at the funny joke.

Adverb

Noun

Verb

Adjective

Q.No: 10 Choose the correct singular form of "alumni".

alumnus

alumnae

alumni

alumnas

Q.No: 11 Choose the option that correctly identifies the voice of the sentence.

She sang a melodious song.

Active voice

Passive voice

Neither active nor passive

Both active and passive

Q.No: 12 The awards were distributed by the Principal. (Change to active voice)

The Principal is distributing the awards.

The awards distributed by the Principal.

The awards are being distributed by the Principal.

The Principal distributed the awards.

Q.No: 13 Choose the correct punctuation for the sentence:

"What time is it _______"

Period

Question mark

Comma

Exclamation mark

Q.No: 14 Choose the correct option that completes the sentence logically and grammatically:
I enjoy playing cricket, _____ my sister prefers playing chess.

for

so

or

but

Q.No: 15 Choose the correct part of speech for the underlined word in the sentence given below.
The scientist conducted a groundbreaking experiment in the laboratory.

Noun

Adverb

Adjective

Verb

Not Answered

Q.No: 16 Arrange the following jumbled sentence into a coherent order:
A. With
B. Friends
C. Park
D. Went
E. The
F. To
G. She
H. Her

A-E-B-G-D-F-H-C

A-H-B-F-C-G-D

G-D-F-H-C-A-E-B

G-D-F-E-C-A-H-B

Q.No: 17 Identify the antonym of 'GIANT':

Dwarf

Greedy

Blunt

Hinder

Not Answered

Q.No: 18 Identify the sentence in past continuous tense.

I am cooking dinner right now.

I cook dinner every day.

I cooked dinner last night.

I was cooking dinner last night.

Q.No: 19 Choose the correct part of speech for the underlined word in the following sentence.
The teacher spoke loudly to get everyone's attention.

Noun

Verb

Adjective

Adverb

Q.No: 20 Fill in the blank with the correctly spelled word:
The company experienced a sudden ___________ in profits.

surje

surge

surg

sarge

Q.No: 21 Choose the correct option that completes the sentence logically and grammatically:
_____ students passed the exam.

Much

Far

Many

Any

Q.No: 22 What is the past tense of "find"?

found

finding

finded

finds

Q.No: 23 What does the term "gratify" mean?

Displease

Satisfy

Disappoint

Upset

Q.No: 24 Choose the option that best represents the antonym of the underlined word in the sentence.
The children were exuberant with joy after winning the competition.

enthusiastic

cheerful

subdued

excited

Q.No: 25 What does the idiom "piece of cake" mean?

A difficult task

Something easy to do

A piece of dessert

A slice of cake

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Not Answered

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The average of five numbers is 75. If the first
four numbers are 75, 60, 80 and 100, what is
the fifth number?

Q.No: 52 Simplify :

Q.No: 53 What is the Highest Common Factor (HCF) of 30 and
100?

10 10

5 5

3 3

6 6

Q.No: 54 A shopkeeper bought 12
notebooks at Rs.200 per dozen
and 24 pens at Rs.220 per dozen.
Then sells notebooks at 10% profit
per dozen and pens at 20% profit
per dozen. What is the combined
selling price of both?

Not Answered

Q.No: 55 If the cost price of an article is
Rs.130 and the selling price is
Rs.100, what is the loss percentage?
(Approximate)

Q.No: 56 You invest Rs.500 at an annual interest rate of 7%
compounded annually. How much will you have after 2
years?

Rs. 85.32 Rs. 85.32

Rs. 90.5 Rs. 90.5

Rs. 72.45 Rs. 72.45

Rs. 70.35 Rs. 70.35

Not Answered

Q.No: 57 A man runs 500meters in 2minutes and
30seconds. What is his average speed?
(Approximate)

Not Answered

Q.No: 58 Simplify :

Q.No: 59
The ratio of Naveen's present age to his
sister's age is 5:6. If the sum of their ages is
55, what is Naveen's sister's present age?

32 years

25 years

28 years

30 years

Not Answered

Q.No: 60 The ratio of 80 seconds to 2 hours is _____.

Not Answered

Q.No: 61
A can complete a job in 20 days, while B can
complete the same job in 80 days.How long
will they take together to finish it?

40 days

16 days

10 days

8 days

Q.No: 62 A bag contains 20 chocolates and 10
ice creams. If you draw an item, what
is the probability that it is an ice
cream?

2/3 2/3

1/3 1/3

3/4 3/4

1/4 1/4

Q.No: 63 Simplify :
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Q.No: 63 Simplify :

Q.No: 64
What should be the speed of a car that has
to travel for 140 kilometers in 2 hours?

Not Answered

Q.No: 65 In a drawer, the ratio of Pencils to Pens is
2:5. If there are 70 in total, how many
Pens are there?

Not Answered

Q.No: 66 What is 68% of 110?

Not Answered

Q.No: 67 Find the difference between compound
interest and simple interest when a
sum of 1000 is invested for 2years at
10% per annum.

Rs. 10 Rs. 10

Rs. 30 Rs. 30

Rs. 40 Rs. 40

Rs. 20 Rs. 20

Not Answered

Q.No: 68 Simplify :

Q.No: 69
The average of 25 numbers is 30. If
three numbers 40, 38 and 52 are
discarded, find the average of the
remaining numbers.(Approximate)

Not Answered

Q.No: 70 What percentage of 6 litres is 900 ml?

Q.No: 71 What is the LCM of 10, 12 and 15?

Q.No: 72
In 3 years Sharma will turn 15 years. How old
will she be 3 years from now?

15 years

11 years

18 years

12 years

Q.No: 73 A merchant buys 25 kgs of ragi for
Rs.60 per kg and sold it for Rs.1750.
What is the loss or profit percentage
made?(Approximate)

16.67% Profit

17.67% Profit

16.67% Loss

16.77% Loss

Q.No: 74
If you randomly choose a month of the year, what is the
probability that it is March?

Q.No: 75
L can finish a work in 16 days and M can do
the same work in 12 days. With help of N,
they did the work in 4 days only. Then, N
alone can do the work in how many days.

9.6 days

5.8 days

4.5 days

11 days

Section - IV (General Knowledge)

Q.No: 76 Where is Nagarahole National Park situated?

Kerala

Andhra Pradesh

Tamil Nadu

Karnataka

Q.No: 77 Which of the following gas is the principal
constituent of 'Gobar gas'?

Oxygen

Methane

Ethane

Nitrogen

Q.No: 78 What is the full form of GAAR?

Gas Anti Avoidance Rule

Global Anti Avoidance Rule

General Anti Avoidance Rule

General Anti Avoidance Ratio

Q.No: 79 When was the Fit India Movement specially aimed at
youth launched?

January 29, 2019

August 29, 2019

September 20, 2016

January 19, 2014

Not Answered

Q.No: 80 When was the East India Company incorporated in India?

November 1650

January 1566

December 1560

December 1600

Q.No: 81 What is the full-form of NATA (admissions exam)?

National Aptitude Test in Architecture

National Aptitude Test in Aeronautics

National Aptitude Test in Aerospace

National Aptitude Test in Accounting

Q.No: 82 Basketball was said to have been "invented" by which
of the following?

Dr. James Naismith

Alfred Mynn

Charles Goodyear

Coburn Haskell

Q.No: 83 When was the East India Company incorporated in India?

December 1560

November 1650

January 1566

December 1600

Q.No: 84 Who among the following proved that plants have life?

Gregor Johann Mendel

Satyendranath Bose

Acharya Jagadish Chandra Bose

Charles Darwin

Q.No: 85 Which of the following scientists discovered
telephone ?

Thomas Edison

Johannes Gutenberg

Alexander Graham bell

Karl benz

Q.No: 86 Who among the following has been
awarded Padma Vibhushan for
Medicine in 2023?

Shankar Jaikishan

Shri Laxman Pai

Dilip Mahalanabis

Antaryami Mishra

Q.No: 87 Which of the following is the
highest and final judicial tribunal
with respect to the Constitution
of India?

Supreme Court

Prime Minister of India

Parliament

President of India

Q.No: 88 Which among the following
Fundamental Rights in the Constitution
of India does not exist in current days?

Constitutional Remedies

Right to freedom

Right to work

Right to Property

Q.No: 89 The famous ancient book named "Stray Birds" was
written by:

Rabindranath Tagore

Bharatha

Panini

Nagarjuna

Q.No: 90 In acronym BRICS, S stand for:

Sudan

Sumatra

South Africa

Saudi Arabia

Q.No: 91 Which of the following river is declared
as 'National River' by the Government
of India?

Ganga

Brahmaputra

Yamuna

Narmada

Q.No: 92 How many pairs of ribs are there in a human body?

Q.No: 93 Who among
following
personalities
is the
current CEO
of Microsoft
Inc. (as of
January
2024)?

Mark Zuckerberg

Sergey Brin

Satya Nadela

Tim cook

Q.No: 94
Cristiano Ronaldo- the football legend's statue
has been installed in which Indian State?

West Bengal

Odisha

Goa

Kerala

Q.No: 95 National Bal Bhavan is an
autonomous institution. It
comes under which Ministry
of the Govt. Of India?

Ministry of Child Welfare

Ministry of Culture

Ministry of Human Resource
Development

Ministry of Education

Q.No: 96 In which of the following modern day
country was the first Modern Olympics
Games held?

London

Berlin

Paris

Athens

Q.No: 97 "Balaram Yojana" is aims to provide:

Health benefits to women

Old age pension

Agricultural credit

Scholarship

Q.No: 98 The Indira Gandhi National Open University
(IGNOU) was established by an Act of
Parliament in ______.

Q.No: 99 Who first invented the DNA fingerprinting
technique in 1984?

Alec Jeffreys

Francis Crick

Gregor Mendel

James Watson

Q.No: 100 Where is the Harish-Chandra Research
Institution, an aided institution of the
department of Atomic Energy, Government of
India?

Rajasthan

Uttar Pradesh

Bihar

Maharashtra

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is not a term pertaining to E-mail?

Drafts

Powerpoint

Receiver

Sender

Q.No: 102 Workspace is a group of ______.

Columns

Worksheets

Rows

Workbooks

Q.No: 103
The WWW was invented by:

Elon Musk

Ray Tomliners

Steve Jobs

Tim Berners-Lee

Q.No: 104 Which of the following is not an internal command in
an MS-DOS?

TIME TIME

REN REN

DEL DEL

EDIT EDIT

Q.No: 105 Game Port is replaced by :

CU (CU)

LCD (LCD)

PC (PC)

USB (USB)

Not Answered

Q.No: 106 Layer-2 Switch is also called as ________.

Multiport Bridge

Multiport Hub

Multiport Switch

Multiport Repeater

Q.No: 107 The process of finding errors/bugs in the software
program is called?

Programming

Debugging

Processing

Compiling

Q.No: 108
_______ is the process of converting cipher text
to plain text.

Encryption

Conversion

Stenography

Decryption

Q.No: 109
Which of the following is not a layer in TCP/IP model?

Process layer

Physical layer

Network layer

Application layer

Q.No: 110 In computer security CIA triad, what is the full form of
CIA?

Confidentiality, Informative, Availability

Community, Integrity, Availability

Confidentiality, Integrity, Availability

Confidentiality, Integrity, Accessibility

Q.No: 111 What role does the regular updating of software
have in computer security?

To improve screen resolution

To provide new features

To increase computer storage

To fix security vulnerabilities

Q.No: 112 Which of the following options
is used to create a numbered
list in MS
Word?

Ctrl + I Ctrl + I

Ctrl + N Ctrl + N

Ctrl + U Ctrl + U

Ctrl + Alt + L Ctrl + Alt + L

Q.No: 113 ________is the science that
attempts to produce machines
that display the same type of
intelligence that humans do.

Nano technology

Artificial Intelligence

Nano science

Robotics

Q.No: 114 ______ appear at the bottom of the Excel window.

Work sheet tabs

Formula bar

Name box

Title bar

Q.No: 115 VGA stands for:

Video Graphics Adapter

Visual Graphics Adapter

Video Graphics Array

Visual Graphics Array

Q.No: 116 The process of trading goods and
items over the Internet is known as
______.

E-banking

E-trading

E-commerce

E-shopping

Q.No: 117 Which of the following
operating system do you
choose to implement a
client server network?

MS DOS

Windows 98

Windows 2000

Windows

Q.No: 118 The word computer has been derived from which of the
following language?

French

Latin

English

Greek

Q.No: 119
What does WWW stand for?

Working window web

Web window word

World wide web

World window web

Q.No: 120 The process of writing computer
instructions in a programming
language is known as:

Processing

Storing

Coding

Displaying

Q.No: 121 Which function key would you press to open the
"Excel Help" window?

F4 F4

F9 F9

F1 F1

F3 F3

Q.No: 122 How are the data organized in a spreadsheet?

Height and width

Rows and columns



Rows and columns

Lines and spaces

Layers and planes

Q.No: 123 A token-ring network is a
_______topology that sends
data in one direction
throughout a specified
number of locations by using
a token.

LAN (LAN)

WAN (WAN)

MAN (MAN)

PAN (PAN)

Q.No: 124 _______ allows you to access your e-
mail from anywhere.

Web messages

EEPROM

Weblog

Webmail interface

Q.No: 125
The address of a website is also known as:

URL

Folder

Location

Mail id

Section - VI (General Science)

Q.No: 126
Acid + Metal gives you _______.

Salt + Hydrogen gas

Only Salts

Salt+ Carbon-di-oxide

Salt + Water

Q.No: 127
Which state of matter has a defined shape and volume?

Solid

Liquid

Gas plasma

Smoke

Q.No: 128
Most of the Fungi are ______ organisms

Multitrophic

Heterotrophic

Autotrophic

Allotrophic

Q.No: 129 The SI unit of magnetic field strength (magnetic
flux density) is

Volt

Ohm

Ampere

Tesla

Q.No: 130
"Kirchhoff's Rules" belong ____ field of Science

Atomic structure

Electrical Circuits

Organic chemistry

Optics

Q.No: 131
The term used to describe a
homogeneous mixture of one or more
metals and non-metals.

Alloy

Element

Matter

Solution

Q.No: 132 Name a non metal that is a good conductor of
electricity.

Phosphor

Graphite

Sulphur

Carbon

Q.No: 133 What is Non biodegradable ?

Substances that are broken down by human interference

Substances that remain in the environment for long without
breaking down

Substances that are made by biogas

Substances in the environment that are broken down by
biological processes

Not Answered

Q.No: 134
1000 watts is equal to how many kilowatts?

Q.No: 135
Molluscs are:

Coelomates

Pseudocoelomates

Non living things

Acoelomates

Not Answered

Q.No: 136
What is the minimum required wind
speed mentioned for maintaining
the required speed of the turbine?

Not Answered

Q.No: 137
Which gland is responsible for the production of insulin?

Pituitary

Pancreas

Thyroid

Androgen

Q.No: 138
Who is considered the father of modern genetics?

Newton

Charles Darwin

Gregor Mendel

Alfred Russel Wallace

Q.No: 139 Which species has binary fission in
a certain direction with respect to
particular structures, such a whip-
like structure?

Plasmodium

Amoeba

Yeast

Leishmania

Q.No: 140
The focal length of a plane mirror is

Zero

Plane mirror don't have focal length

Infinity

Unity

Q.No: 141 What is the first byproduct of
glucose breakdown in the
cytoplasm during cellular
respiration?

Ethanol

Pyruvate

Lactic acid

Carbon dioxide

Q.No: 142 A bee sting causes pain and irritation due to the
injection of what substance?

Formic acid

Nitric acid

Hydrochloric acid

Sulfuric acid

Q.No: 143 Why is cell-by-cell division considered
impractical in many carefully
organized multi-cellular organisms?

Inability of cells to specialize

Complexity of tissue and organ organization

Random distribution of cell functions

Lack of growth potential in cells

Not Answered

Q.No: 144 Which one of the following shows the correct
relationship in terms of reactivity?

Not Answered

Q.No: 145 The Recommended Dietary Allowances
(RDAs) for adolescents differ from
minimum dietary requirements because
they:

Focus on specific nutrients rather than overall
calorie intake.

Consider individual factors like age, activity level,
and sex.

Are only recommendations and not strictly
necessary.

Are static values and don't adapt to changing
needs.

Q.No: 146 The main purpose of the heart is to _______.

Transportation of oxygen and carbon dioxide

Removal of carbondioxide only

Synthesis of blood cells

Removal of oxygen from the blood

Q.No: 147 The most rapidly dwindling natural resource in the
world is:

Wind

Sunlight

Water

Forest

Q.No: 148
Which of the following is a renewable source of energy?

Electricity

Nuclear power

Water

Power Vehicles

Q.No: 149 What is the role of capillaries in the
vascular system?

Carry the blood away from the heart

Carry blood, nutrients and oxygen to the cells
in your organs and body system.

To control blood pressure

To control the blood sugar

Q.No: 150
What is the unit of measurement of ozone?

Newton

Meter

Candela

Dobson


